P&F; Prof. Boedeker; worksheet on the question of being: HCT, pp. 135-144; and Being and Time (1927), Sections 1-5
Feel free to skip HCT 135-144.  In these sections, Heidegger explains that he wants his phenomenology to be able to investigate the being of entities insofar as we encounter them.  To do this, he will have to do a number of things:

· broaden his scope of our encounters with entities beyond just the intentional relations to objects and objective states of affairs;
· re-think the notion of the a priori as not necessarily restricted to eternal, timeless universals;

· re-work Husserl’s method of phenomenology, since Husserl’s is tailor-made just for intentionality, and the conception of the a priori as necessarily restricted to eternal, timeless universals.

Please note that page numbers refer to those of the German original, placed in {curly brackets}.

1. In section 1 of BT, Heidegger rehearses three traditional arguments against the possibility of what he proposes to do: investigate the being of entities insofar as we encounter them.  What are these arguments?  Do you find any of them compelling?  Explain.
2. On p. 6, Heidegger suggests that any question has three aspects: (a) what is asked about; (b) what entity is questioned, or “interrogated”; and (c) what’s found out through asking.  Heidegger’s question is “what is the being of entities as such?”, also known as “the question of being”, and the answer he’s aiming at is “the sense of being per se,” which (as he sketches out in section 5) will turn out to be what he calls temporality.  He argues that human beings, which he calls “Dasein” – a normal German word for existence – are (b) the entities to be questioned, or interrogated.  Why is this the case?  His answer to this question can be found in section 4.
3. In section 3 of BT, Heidegger argues that asking and answering the question of being is necessary to understand, and perhaps even to resolve, the various scientific revolutions that were taking place around when he was writing. Why is this?
4. On p. 7, Heidegger raises a possible objection to what he is proposing to do: that it engages in “circular reasoning” – i.e., presupposing the answer in the very question (or presupposing the conclusion in the premises).  How is this charge supposed to work for Heidegger’s question of being?

5. On pp. 7-8, Heidegger replies to the charge of circular reasoning.  What is his reply?  (Note that it has a lot to do with the answer to question 2 above.)  Do you find it satisfactory?  Explain. 

6. Explain Heidegger’s important terms “existence,” “existentiell,” and “existential,” as these are defined on pp. 12-13.

